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State Level Assessment (SLA) 
Session -2018-19 

Class -  1   
Subject- English 

Time : 2 hrs.         Total Marks : 30 

Roll No. (In figures) ……………… (In words) ……………………… 

Name of the Student ………………… Name of  the School ………… 

Signature of the Invigilator ……… Signature of the Valuer ……….. 

Obtained Marks in figures............   Obtained Marks in words............ 

Note: 1. All questions are compulsory. 

 2. Each question carries 2 marks. 

 3. Teacher will speak the question and its options loudly and slowly  
  but no hint or clue will be given in any manner. 

1. Tick () the correct letter which comes between M and O? 

 M vkSj O ds chp vkus okys v{kj ij ¼½ fpUg yxkb,A 

 M ...... O 

 (a) N  (b) L  (c) P 

2. Tick () the name of the given object. 

 nh x;h oLrq ds uke ij ¼½ fpUg yxkb,A 

  

 

 (a) cup  (b) mug  (c) glass 

fo"k; dksM&1021 



 

3. Look at the picture and tick (

 fp= dks nsf[k, vkSj

  

  

 (a) bun  (b)

4. Tick () the correct letter.

 lgh v{kj ij ¼½ fpUg yxk

 (a) Г  (b)

5. Tick () the correct letter.

 lgh v{kj ij ¼½ fpUg yxk

 (a) v  (b)

6. Look at the pictures

 fp=ksa dks nsf[k, vkSj 

(a) vehicles (b)

2 

Look at the picture and tick () the correct name. 

nsf[k, vkSj mlds uke ij ¼½ fpUg yxkb,A

(b) sun  (c) gun 

the correct letter. 

½ fpUg yxkb,A  

(b) L  (c) ┘ 

) the correct letter. 

½ fpUg yxkb,A 

(b) ᴧ  (c) > 

Look at the pictures. Tick () the group which they belong to.

vkSj muls lacaf/kr lewg ij ¼½ fpUg

(b) flowers (c) clothes 

A 

the group which they belong to. 

½ fpUg yxkb,A 
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7. Which word rhymes with 'say'? 

 'say' ds leku rqdkUr okyk 'kCn dkSu lk gS\ 

 (a) day  (b) sky  (c) cow 

8. Tick ()  the correct pair of the picture and the word. 

 v{kj vkSj fp= dh lgh tksM+h ij ¼½ fpUg yxkb,A 

 

(a) bat - (b)   fan-     (c)  spoon-   

 
 

 

9. Tick () the letter which comes after 'u'.  

 'u' ds ckn vkus okys v{kj ij ¼½ fpUg yxkb,A 

 (a) t  (b) r  (c) v 

10. Tick () the correct answer. 

 lgh mŸkj ij ¼½ fpUg yxkb,A 

 A bird  can ............................ .  

  

 (a) fly  (b) swim  (c) ran 
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11. Look at the picture.Tick () the correct answer. 

 fp= nsf[k,A lgh mŸkj ij ¼½ fpUg yxkb,A 

  

  

 The cat is ............. a table 

 (a) in  (b) on  (c) under 

12. Look at the picture.Tick () the correct answer. 

 fp= nsf[k,A lgh mŸkj ij ¼½ fpUg yxkb,A 

 

  

  

 The ball is …….. a box. 

 (a) in  (b) on  (c) under 

13. Tick () the correct answer. 

 lgh mŸkj ij ¼½ dk fpUg yxkb,A  

 This is Ahil. He is a .................   

  

 (a) girl  (b) boy  (c) woman 
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14. Look at the pictures. Tick () the name of the fruit. 

 fp=ksa dks nsf[k, vkSj fruit ds uke ij ¼½ fpUg yxkb,A 

  

  

  

 (a) shirt  (b) bus  (c) mango 

15. Find the letter in the picture and tick () the small letter for it. 

 fp= esa fn, x, v{kj dks igpkfu, vkSj mlds fy, vkus okys 
 small letter ij ¼½ fpUg yxkb,A  
 
 
  

      

 (a) m  (b) n  (c) p 
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